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“I believe that new mathematical schemata, new systems of axioms,
certainly new systems of mathematical structures will be suggested by
the study of the living world.”

– Stan Ulam

Biological Diversity
A common misconception about the theory of evolution is that it is a theory of randomness—

which cannot be further from the truth. The theory of evolution is vastly complicated, but at its core
it roughly works as follows: some individuals in the population will experience genetic mutation.
Of course, given a large population and an ‘easy to occur’ mutation, this will probably happen for
many individuals in the population. If the mutation can be passed on and helps the individual
survive in the environment, then these genes will come to dominate in the population, and the
process repeats. Even if the mutation only increases the survivability of the individual by 0.001%,
given enough individuals and a large enough period of time, these individuals will dominate in the
long run. Consider an analogy with income: if a group of workers only make $0.001 more per hour
than another group, assuming the first group doesn’t dissolve (i.e., die out) then in the span of tens
of thousands of hours, these individuals will have much more money than the second group.

However, the predictability of genetics rests on Statistics and Probability. It may not be possible
to say which individuals will have mutations or will survive in the long term. Instead of attempting
to make predictions about individuals in a population, we can apply the laws of Statistics and
Probability to allow us to make accurate predictions about the population(s) as a whole. For
instance, I cannot say much about the height of a random male individual in the United States with
certainty, but I can say with certainty that 90% of such males will have height between 64 inches
and 73.7 inches (based on current data).

We can use these statistical and probabilistic principles, along with some Calculus, to create
predictions about populations as a whole, especially with regards to their genetics. In fact, farmers
use this when inbreeding cattle to maintain genetically stable herds—the so-called coefficient of
inbreeding. We will examine such laws in two special cases.

Hardy-Weinberg Law:1 In the absence of other evolutionary influences, the Hardy-Weinberg Law
states that allele and genotype frequencies remain constant from generation to generation. In
a simple case, there are only two alleles, say A and B, which occur with probability p and q,
respectively. Then if the individuals in the population mate randomly, you can expect a probability
of p2 for individuals having genetic type AA and q2 for genetic type BB (the homozygotes, or ‘same
genes’), and 2pq for genetic type AB (the heterozygotes, or ‘different genes’). This follows from
the simple application of laws of probability for a sequence of independent events. [Can you see

1Hardy was a very famous mathematician who wrote a book called, A Mathematician’s Apology, where he said, “I
have never done anything useful. No discovery of mine has made, or is likely to make, directly or indirectly, for good
or ill, the least difference to the amenity of the world.” Reading the book, or about his life, especially his collaboration
and ‘discovery’ of the Indian mathematician Srinivasa Ramanujan—who is arguably one of the greatest mathematicians
having made major contributions to many fields of Mathematics despite having died young and having taught himself
nearly everything he knew without any help. You might watch The Man Who Knew Infinity about his life, or the book by
the same name.
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why these are the probabilities drawing a simple Punnett square like the one below?]
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Of course, the Hardy-Weinberg Law requires many assumptions about the population, which we
will not discuss here. Now think about a gene with three alleles. As an example, we can consider
blood type, which has three alleles: A, B, and O. In this case, the homozygous individuals have
blood ‘type’ AA, BB, and OO, while those with blood ‘type’ AB, AO, or BO, are heterozygous. The
Hardy-Weinberg Law states that the proportion of individuals in the population with heterozygous
type is given by

P (p, q, r) := 2pq + 2pr + 2qr

where p, q, r represent the percent of alleles of type A, B, and O in the population, respectively.
Because one ultimately, after this genetic combination at birth, has type A, B, or O, we know that
p+ q + r = 1.

Problem:

(a) Show that the maximum proportion of heterozygous individuals in the population is at most
2/3.

Of course, we can make predictions for more than just the genetic diversity for a single pop-
ulation. Instead, we can examine ecological diversity more broadly. There are many measures of
biodiversity. However, a common measure because of its understandability is the Shannon Diver-
sity Index (or Shannon-Wiener Index)—though there are others. The concept was originally used
by Claude Shannon in Information Theory. [You might be familiar with him from his mathemati-
cal work in Computer Science, especially if you learn Cryptology.] For an environment with three
populations, A,B,C, the index is

H(x, y, z) := −x lnx− y ln y − z ln z

where x, y, z are the proportion of the species A,B,C in the environment, respectively. [Observe
by definition, x+ y + z = 1.]

(b) What happens if there is only one population, e.g. x = 1 and y = z = 0?

(c) What is the index if all the populations are equally abundant?

(d) What happens if all the populations are ‘very different’ in size? [It may be easier just to try it
in a few examples.]

(e) What happens if one population is very dominant?

(f) Given (c) and (d), discuss how this index measures ‘diversity.’

(g) Show that the maximum value of H occurs when x = y = z = 1
3 , with maximum value ln 3.
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